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1. w2014 TR FRREAR FIUR o S e ?
(1) wWT-21 (2y wE.TH. -270 (3) TWHUW. -270 (4) WTA.TS. - 370
Which Malaysian Flight got disappeared in March 2014 ?

(1) MA-21 (2) HM - 270 (3) ML -270 (4) MH - 370

2. 2013 U9 ITEHTH IR HIOMFT SIMHEN qRAS T4 0 7
1) 63 (2) 53 (3) 41 (4) 3%
Where did India stand in the World in the Internet use in 2013 ?

(1) et (2) 5th (3) 4t (4) 3

3. ‘T IE A gfe’ 9 EIoetE! SR U SRET g ?
(1) 17591 auivA 7 T QW HT09 ST,
(2) =i f&7 12 AR, 2012 U WS FAR S
(3) @Y 5 T U fAFters STAER WIRae Ut Yore TEs Jieat 56 g 0.

@) **175 auia 9 7R R 175 ania e, fafta S [ € o gus Wi st | 9 e

Which of the following statements is not correct about “The Times of India’ ?
(1) 175" anniversary was celebrated recently.
(2) The anniversary was celebrated on 12th November, 2012.

(3) The commemorative stamp of Rs. 5 was released by Pranab Mukherjee, the President
of India.

(4) “Not 175 years old but 175 years young”, said Vineet Jain {The Times Group
Managing Director}
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4, Tt SrEeaTen Yo ey Qe faur fawmd =2
(a) mﬁﬁwmmﬁﬁﬁﬂamg@mﬁmwwmaﬂ%
(b) o Weled =TT 40 9 WATATHIN SR,
() AR 1994 WHd TSR I TelTs AreieT s+ 2,
(d) A7 2008 #ed e 3 AATAT YA AN TS,
qaiEt e
(1) faum (a) 2o (b) SR, (c) 3T (d) SR,
) TauR (a) el (b) TR, (c) ST (d) SR,
(3) faum (a) anfer (d) SR, (b) 20f () TR,
(4) Faum (a) 3N () SRS, (b) S (d) T,
Consider the following statements with regard to the Chief Justice of India :
(a) Justice Rajendramal Lodha has been appointed as CJI recently.
(b) He is the 40 CJI of Supreme Court.
(c) He became a judge of Rajasthan High Court in Jan. 1994.
(d) He became the Chief Justice of the Delhi High Court in May 2008.
Answer Options :
(1) Statement (a) and (b) are correct, () and (d) are false.
(2) Statement (a) and (b} are false, (c) and (d) are correct.

(3) Statement (a) and (d) are correct, (b) and (c) are false.
(4) Statement (a) and (c) are correct, (b} and (d) are false.

5. Groe faur forema =
(a) et HimiEan Yaard 2014 HEA WU G G T H €.
(b) T W ST T e Ao Fe Wi ReRe e TR Sel .
(©) QU Gt SN 5 WEETET STgA TS YHEel wated e e i s,
it fagmiteht IR SET SR 2
W @ © @ @ ) @) ®) ) (@) o w
Consider the following statements :
(a) Union Cabinet in Feb. 2014 approved the setting up of an Equal Opportunities
Commission (EOC).
(b) The proposal for EOC was made by the Union Ministry on the recommendations of

Suchar Committee.
(¢) The EOC is a five member body and will be headed by a retired Judge of the Supreme

Court.
Which of the above statements are correct ?
(1) (@), (9 2y (), (b) (3) (b), () (4) All the above

ol HIHTES A / SPACE FOR ROUGH WORK
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6. OfiF B2 yiaays fadawemE aoiie faum frmmm =,
() TEHIR A wEET TR F .
(b) TEHENT 4 FEE TEHAT TR HS N
(c) STt & STesan Hufen i rdefed Sendie Al wew foe 1,
(d) PR FERumErEt sfara o fmio o) srervas o,

it 34y
(1) (a) 3nfo (c) ST (2)  (b) 3T (d) T
(3)  (b) M (c) "R (4) (a) for (d) SRR

Consider the following statements regarding the Bill to prevent sexual harassment :
(@) It was approved unanimously in the Rajya Sabha.
(b) It was approved by a huge majority in the Rajya Sabha.

(c) It seeks to provide protection to women in unorganised and organised sectors
excluding the private sector.

(d) It makes mandatory to have internal redressal mechanism for complaints.
Answer Options :

(1) (a) and (c) correct (2) (b) and (d) correct

(3) (b) and (c) correct (4) (a) and (d) correct

7. YRAW® UEe 9IRS arefaurt afeer $o?

(1) TR R (2) AR

(3) Tl SH® (4) fFE v

Who is the first woman to drive Monorail in India ?

(1)  Juilee Bhandare (2) Amruta Malhotra
(3) Laxmi Joseph (4) Monika Patel

8. 2013 91 AUS! WifeA THEH! YR FHOMS W1 AT ?

(1) Hd TS S8 (2) R Hiea

(3) et Ferqmreet (4) W FBEH
Who won the Sahitya Academy Award for Marathi in 2013 ?
(1) Vasant Aabaji Dahake (2) Namdeo Kamble
(3) Maruti Chitampali (4) Satish Kalsekar
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9. wfiiearam enfis AR afifd TR 7ed HH Scow THST TR TITHIST TTHie qivft qeaat
5 TR0 Yhours SoasIgoiaIe! Wend geifae! df 198 %o

(a) mEM (b)) FeEm (c) wRES
e T Fivw ?

(1) TS (2) IWWRA

(3) SWIES (4) WF T

The Cabinet Committee on Economic Affairs (CCEA)} in January gave its nod for the
implementation of the Rural Water Supply and Sanitation Project for four Low Income

States i.e.

(a) Assam (b) Bihar (c) Jharkhand
Which is the fourth state ?

(1) Chattisgarh (2) Uttar Pradesh

(3) Uttarakhand (4) Madhya Pradesh

10. s 9c F9 20 - 20 SEd SSA TEL

EL] fasran Sufasrar
(a) 2007 I () o
(b) 2010 ELEES (i) o
(¢) 2012 ELESIE (ifi) A
(d) 2014 e (iv) W&
i S

@ () {0 @
(1) @) @) @ @)
(2 @) @) @ )
@ @ @ @) (i)
@ @) O @) @)
Match the pairs with regard to ICC World Twenty-20 Cup.

Year Winner Runner-up
(a) 2007 India (i) Sri Lanka
{by 2010 England (ii) Pakistan
(c) 2012 West Indies (i) Australia
(d) 2014 Sri Lanka (iv) India

Answer options :

(@ () (o ()
(O @ @ @ )
(2) @) @ @ )
3 @ @ (v) (i)
4 @ @O @ @)
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11. "=’ [CHOGM] 2013 aredia @idie faum fa=rm =.
(a) g 2013 HEY Higa) A9 e,
(b) WA YT T g,
(c) IS T A=A T FfEEHN e,
(d) 53 ITEATEN YEItHT e 27 g
() UTFA W@ Wil TSN - 11 A1 & Bl
() woRmEmE S -2015" W6t T we feag g,
et Hiva faum/ faus gee s/ ?
1) () B @ @@ @) @IE) @) ()
Consider the following statements regarding ‘CHOGM - 2013’ :
(a) Held at Colombo in Nov. 2013.
(b) P.M. of India was not present.
(c) Leaders of Canada and Mauritius boycotted.
(d) Out of 53 heads of the Govt. only 27 attended.
(e) Queen Elizabeth-II the head of Commonwealth attended.

(f) Malaysia is chosen as the host for CHOGM - 2015.

Which of the above statements is/are not correct ?

(1) (b) only (2) (@) and (c) (3) (d)and (e) (4)  (e) and (f)

12. oY @ wed e’ % ufdg serafd S geres e ?

(1) =eg o o (2) Tt gt

(3) e g (4) WIHS T

Which player has written the famous autobiography ‘Underneath the Southern
Cross’ ?

(1) Mahendra Singh Dhoni (2} Ricky Ponting

(3) Kapil Dev (4) Michael Hussey
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13. e faue fa=mm =
(a) ST - TV 1 ST STl ST SqUIEATHI W A9RE ==l el .
(b) et - TV =1 AR 2o 3000 feed et ome.
(©) 20 Hex I AU SRET A 17 T IR
Fliets! Fv fauR G T ?
(1) (a) ST (b) @ (b)) () (a) () 4 () (b) ()
Consider the following statements : A
(a) India successfully test fired its nuclear capable strategic missile Agni - IV.
(b) Agni - IV has a strike range of about 3000 km.

{c) The 20 metre tall missile weighs 17 tonnes.
Which of the above are true ?

(1) (a} and (b) (2)  (b)and (c) 3) (@and () 4 (@) () and ()

14, ML, (RBI) =0 S TR ea wrete o faw =
(a) . Te A TR S, A T TR vt HUE Fr IR,
(b) T AU T S .
(c) 3 rifera SRt aTRA.
(d) o st A
(e)  awie fesr Ziean Sl J A5 .
Tt 3

(1) A (), (), () T, (d), (e) TR

@ faum @), @), (@) T, (0), () TH

(@) T (), () (o) T, (a), (d) T

(@) FE (a), (c), (o) T, (b), () T

Consider the following statements regarding Deputy Governor of RBI :
(a) R Gandhi has been appointed as the Dy. Governor of RBI recently.
(b) His appointment is for a term of 5 years.

(c) He is a noted banker.

{d) He is an economist.

() He replaced Anand Sinha.

Answer Options :

(1)  Statements (a), (b), (c) correct, (d), (e) false

(2) Statements (a), (b), (d) correct, (c}, (e) false

(3) Statements (b), (c), (e) correct, (a), (d) false

{4) Statements (a), (), (¢) correct, (b), (d) false
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(a) TEES FHE (@ fasmm fam
(by o T (i) TET TE
() Y& THE (i) T &, g
(d) Y TS @ HEEATGH (iv) T TSR TS
Tt I

(@ () () (d)
) @G @ @) (iv)
@ G) @@ @ @G
Gy (v) @ @ ()
@ @ () G (i)
Match the following :

(a)  Chief of Air Staff (i)  Bikram Singh
(b)  Chief of Naval Staff (ii) Arup Raha
(c) Chief of Army Staff (iti) Robin K. Dhawan

(dj} Director General of Indian Coast Guard (iv) Anurag Gopalan Taplilal
Answer options :
@ (®) (9 (@
1) G () (i) (iv)
2 @ @ @ @)
(3) (v} @) @) @)
4 0 () @@ @)

16. THFAN 3T SR &1 HIET HaGR KA diaa G4 Faea smen g ?
1) fer (2) e wig (3) = (4) &R

From which of the following provinces Rajkumari Amrit Kaur was elected on the
Constituent Assembly ?

(1) Bihar (2) Central Provinces (3) Bombay (4) Punjab

THeedl THIHEE! S / SPACE FOR ROUGH WORK
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17. VNSRS Sgdiv QeI WA qeed 7 groarH HRo hivw! ?

(1) T S

(2) THYETE SEwiE STl

(3) orRE! FReRa

(4) o T

Which of the following main causes is/are responsible for unsuccessful Gram Sabha in
the Villages of Maharashtra ?

(1) Lack of interest on the part of Sarpanch

(2) Unwillingness of the members of Gram Panchayat
(3) Iliteracy of People

(4) All the above

18. UEEE-TS AT GEAYYE W YA SRV S AT e ?

(1) TSR s wErre (2) ST ST SNy Hew

(3) TRYM 3 FHAfes (4) TSN 0T Heg Yaw

Which are the first two states to implement the scheme of Panchayat - Raj in India ?
(1) Rajasthan and Maharastra (2) Rajasthan and Andhra Pradesh

(3) Rajasthan and Karnataka (4) Rajasthan and Madhya Pradesh

19. SuHd-TS Ve i SeRefae Aemeiatd - 2013 91 9eH FHAlwE R I
T2 AT’ SR TS I ATt 7
(1) RS (2) F@ (3 fagu (4) WERTE

In 2013 which of the following states stood first and got awarded under the Panchayat
‘Empowerment and accountability incentive scheme as such the “Cummulative
Strengthening Index Award”.

(1) Karnataka (2) Kerala (3) Tripura (4) Maharashtra

HoAT HIATEIS ST / SPACE FOR ROUGH WORK
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20. WS fauria e &4
(a) RS T FRUE Y SRS 5 a7l

(b) TR WHOHRT STRRTE YeTH ST 3.

FSETE FIR faum S0ET AR ?
(1) e e (2) WEH ()
@) =T (4) P (b)

Consider the following statements :
(a) The tenure of Sarpanch of Maharashtra Gram Panchayat is of five years.

(b) There is reservation for the post of Deputy Sarpanch of Gram Panchayat in
Maharashtra.

Which of the above statements is correct ?
(1) Both are correct (2) Only (a)
(3) Both are incorrect (4) Only (b)

21, ToUTE™ FE T AYFR AHsH THSTH! FIUR U i AT,
(1) T T EAN FREK T .
(2) AU T fardietar Foud ST,
(3) TG TETAT TS BT A T HE Tl
(4) TS S5 ~ATATETe i Yo HET S .

Identify the wrong statement from amongst the following about the functions of the
Governor.

(1) Governor is the executive head of the State Govt.
(2) Governor acts as the Chancellor of State Universities.
(3) Governor may dismiss any minister on the advice of the Chief Minister.

(4) Governor is the appointing authority of High Court Judges.

ST HHTESH FAET / SPACE FOR ROUGH WORK
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22, RN WEAH 1984, 31 991 wyEt, weH fat, nede Wit Yot 8 ?
(1)  FETHETS QRO SIEmT=an formreii=T STy Harra.
(2) THIETACSA] YOTEHE | S At ga,
(3) TRUNNET 9 HeR Wi At s faue
(4) Toe sRwe=n Fraeum gurer fawe
In 1984, for what purpose Government of Maharashtra appointed ‘Principal P.B. Patil
Committee” ?
(1) To study recommendations of Administrative Commission,
(2)  Administrative and Financial matters of Gram Panchayat.
(3)  Octroi of Municipal Council and Municipal Corporations.
(4) Election reforms of Zilla Parishad.
23. 9 fedat 1946 T fowet AN s wfirdt=h ofedh S+ Jvam e, 1 i qeRa sty
R QRO I AR FrehS e ?
(1) T . snsEH S (2) SR TR
(3) < weiere fam (4) fsd TAREE TEE
Who worked as a temporary President of the Committee on Constitution on 9th December
1946 at Delhi ?
(1) Dr. B.R. Ambedkar (2) Dr. Rajendra Prasad
(3) Dr. Sacchidanand Shinha (4) Pandit Jawaharlal Nehru
24, WY TREE ® FOAHEde Teeia #oE f9um g T

(1) THeEF FEA, Wiet Tifedt XA e awgfeud v TiEe fead e,
(2) FERE o AT W TR Azurh ke 2R Yo o,

(3) URARM ¥ fdhar g5 WU Ul 9EE w e,

(4) YRATETRY ST I 98 ST S,

Which of the following statements about the deprivation of Indian citizenship is
not true ? :

(1} Have obtained citizenship by means of fraud, false representation or by concealment
of any material fact.

(2) Disloyalty or disaffection towards the constitution shown by an act or speech.
(3) Assisting an enemy country with whom India is at war.
(4)  Continuous residence outside India for five years.

E R A A S TS
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25. I el et ¢
(a) WA (i) TwIEEE qEed
(b) HSH 40 () umEHEt e
(c) O 243 | (iii) TR ey
(d) STEEE (iv) wHET Sgafeuda TmYEEd dodn ey
it I

@ M () @
1) @) @ @) @
(2) (@) @) @ @)
@ @ @ @ W
@ () @ G) )

Match the following :

(a} Sarpanch (i} To organize Gram Panchayat

(b) Article 40 (i) Definition of Gramsabha

(c) Article 243 (i) Chairman of Gramsabha

(d) Up-sarpanch (iv) In the absence of Sarpanch presides over the

Gram Panchayat meetings as a Chairman
Answer options :
@@ () (o (9
1) @) @ @) (i
2) G @ @) (@)
@ (@) @ @ )
4) @) @ G @

26. 1920 HEA YR 19 freoft @ St wETRE wrar fadt gt 2
(1) 12% (2) 15% (3) 20% (4) 55%
In 1920 what was the percentage of women workers in cotton textile mills in India ?

1) 12% @ 15% 3) 20% 4) 5.5%

oAl HTHME! AT / SPACE FOR ROUGH WORK
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27.  TE FORG T TERSRIE HI0El Tei=] Teur gl ?
(a) TTesH™T G (b) TR e
(c)  TiTdTes ORI SR (d) T g
it I
(1) (@) (b) T 2 ®OF(QTF
(3) (a), (b) M0 (d) TR 4) (a) (b) () (d)
Who contributed towards establishment of the National Congress from Maharashtra ?
(a) Gopalkrishna Gokhale (b) Gangarambhau Maske
(c) Gopal Ganesh Agarkar (d) Phiroz Shah Mehta
Answer options :
(1} (a) and (b) correct (2) (b) and (c) false
(3} (), (b} and (d) correct (4) (a), (b), (c), (d)

28, fafowit wRaw an1 390 TE S, SR :
(a) T T SENTEES SHIW el
(b) RS I fawm Fo.
(c) R ISR firage UL,
(d) et Tl dit & e T e,
Tt S
(1) (a) ®e
(2) (a) 3T (b) e
(3) (@) (b) 3T () T
(4) (a) T (d) e
The British started the Jute Industry in India, because :
(a) They had attraction for the Jute Industry.
(b) To develop the Indian Industry.
(¢) To generate employment for the Indians.
(d) There was an increase in the demand and to earn more profits.
Answer options :
(1)  (a) only
(2) (a) and (b} only
(3) (), (b) and (c) only
(4) (a) and (d) only

HeAl SIS ST / SPACE FOR ROUGH WORK
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R fafeent Wusii=t S ge Soit wregee fafew v e soviien e ‘ TRae geret
fert HXomy wreftetor’ 8 il wew ?
(1) TrE TR Q) e fay
B) o= feaw (4 e

Who called the directors of The British East India company the appointing authority of
the plunderers of India ?

(1) Dadabhai Naoroji (2) Adam Smith
(3) Lokmanya Tilak (4) Brad Law

30.

fafearer s TRdat=n SeamieR S Yo g Tosd ?

(1) sfas W e ffide are e

(2) TR Sl R s e Ted.

(8) IRdIT GeurEl wHIfeE RIEEN, 3, 7S snfeared qeardie ST SR,
(4) I SUSH W wfeR e s Sed,

What was not the effect of the British Colonialism on Indian life ?

{1) Background got prepared for emergence of an All India Organisation.

(2) No individual freedom for people at the grass root level.

(3) Even the rural people started imitating the Westerners in social etiquettes, dress,
entertainment etc.

(4) Many English words became part of local languages.

31.

FOTAHS PV e Heitery’, frdw et e i el fre et o o ?
(1) wEwsEr @ < |
(3) e (4) wa@

Which group of the Congress was criticized as the group of Opportunists, Pro-British,
Political Beggars ?

(1) The Maharashtrian (2) The Bengali
(3) The Extremists (4) The Moderates

HeedT HINMETS! W / SPACE FOR ROUGH WORK
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32, Rt mmar Yoo famrren st oo e ?
(1) Iiade 9o
2) T et
(3) ScarereA fehHde Jgsad de
(4) IR WEAd 916
Which of the following was not the economic effect of the development of railways ?
(1) Impact on agriculture.
(2) Stabilization of prices.
(3) Increase in ups and downs of the prices of the products.

(4) Rise in the number of cities.

33. 1857 <1 SO HiRTHTEH=A FRER Teea G gie o fafew Hades e gt ? g
qqty Feet

1) 3w (2) EoaoE
(3) THIH 4) FES

Who was the British Resident who got wounded in the fierce attack of the revolutionaries
and succumbed to death during the Revolt of 1857 ?

(1) Outram (2) Havlock

(3) Henry Lawrence (4) Campbell

34, RSN WA wqE YU HIVIE SHieEe §d ?

Q) hfast @ fau R

(3) . e (4) S9! IR BN

Who is known as the ‘Martin Luther of Maharashtra’ ?

(1) Jyotiba Phule (2) V.R. Shinde

(3) Dr. Ambedkar (4) Chhatrapati Shahu Maharaj

el FHWMEE ST / SPACE FOR ROUGH WORK




17

35. SN S 9 g4y e
HEANEH TSI T

(b)
(c)
(d)

el Fiaa s TR THe
OIS Ml G&

TR AE

THiEgr I

(1)
(2)
)
(4)

Choose the appropriate option by Matching the pairs :

()
(b)
(©)
(d)

(a)
@

(i)
(i)
(iv)

(i)
(i)

©
(i)
)
0

(@

(d)
(iv)
(i)
(i)
@)

Foundation of Satyashodhak Samaj

Foundation of the Home for prohibition of Juvenile killing

Started school for untouchables

Shetkaryancha Aasood

Answer options :

(1)
(2)
(3)
(4)

(a)
(i

(i)
(i)
(iv)

(b)
(i)
(i)

(i)
(iii)

()

(d)
(iv)
(ii)
(iv)
(i)

(i)

(i)
(i)
(iv)

&)

(i)
(i)
(iv)

1852

1863

1873

1883

1852

1863

1873

1883

004
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36. ANy SIST O

(a)
(b)
(©)
(d)

fieoin I3E
e Tl 386
Hleadl 331
HSl IO

it I

1)
(2)
(3)
(4)

Match the pairs :

(@)
(b)
(c)
(d)

(a)
i)

(b)
(i)

(i) (@)
(iv) (i)

(ii)

(iv)

(iii)
(iv)
(i)

i)

Revolt of the Bhills

Revolt of the Pagal Phanthis

Revolt of the Kolis

Phareji Revolt

Answer options :

(1)
(2)
(3)
4)

(a)
@)

(b)
(i)

@ 0
™ @ @

(i)

(iv)

{c)
(itd)
()

()

(iii)

18

(i)
(i)
(iv)

)

(i)
(idi)
(iv)

1838

1829

1825

1817

1838
1829
1825

1817

THOAT HIFTATS WM / SPACE FOR ROUGH WORK




A 19 04
37. QU TUR FH0ArT A ety gadt’ wamnt s nfrmas woit w52

(a) sitaet gieat g (b) TETT T

(€) ¥ IY TERE A (d) | T AR

vt 39

(1) HH (c) TR R, 2) (a) ¥ (b) I TS A

(3) e wd SR TRA. (4) 0o §d gEra oTRd.

Who established Aatmanistha Yuvati Association in Nashik to propagate the idea of
nationalism ?

(a) Smt. Durgadevi Bohra (b) Kalpna Dutta
(¢} Mrs. Yesu Babarao Sawarkar {d) Mrs. Laxmibai Datar
Answer options :

(1} Only (c} is correct (2) (a) and (b) are correct
(3} All are correct (4) Al options are wrong
38, il AT

(a) 1887 - - SOTHE WHRR! i Yoo w=feq ot Ifea
(b} 1897 - I - Foat=n ez freq=d Hq
(¢) 1910 - III - AR feaads wr
(d) 1910-1V - €@ WiEW &
TgiEr I
(@) () () (d)
(1) @ @) (Gv) @)
) () @ (v) ()
@ @ @ @) )
@) @ @) @v) (i)
Match the following :
(a) 1887 -1- Amalgameted Society of Railway Servants of India
(b) 1897 - II - Strike in Swadeshi Mills at Kurla
() 1910 - III - Kamgar Hitwardhak Sabha
(d) 1910 - IV - Social Service League
Answer options :
(@ (b) () (d)
M @ @) (@v) (i)
2) (@) @ (@v) (i)
() @ @ @) ()
@ @ @ (v) (i)

T HIHTETS AT / SPACE FOR ROUGH WORK

P.T.O.



004 20 A
39, YEI® WA W HlOHFH T[T FU.

(a) | EH (b) Frsm wug

(c) wfeen feommea (d) wfser faamie

vatdt 9

1 @ ® © (d

2 @ (© & @

G ©@ & ¢d @

@ ®& 9 @ @

Arrange the following events in their chronological order :

(a) Samata Sangh (b) Nishkam Karmamath
() Mahila Vidyalay (d) Mahila Vidyapeeth
Answer options :

1 @ ® «© (@

2 @ (© & (@

@ @ ® @ @

@ & © @ @

40. T faveea G IY YRYM A TASERE (1877) " IV 39 8id ?

(1) o argRa St (2) TS TR

(3) gy TR (4) SRR 2R

Who attended the ‘Imperial Durbar (1877)", dressed in hand-spun Khadi ?
(1} Ganesh Vasudeo Joshi (2) M.G. Ranade

(3) Rabindranath Tagore (4) Balendranath Tagore

FHET RIS AT / SPACE FOR ROUGH WORK
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41, GEE THEE XY Yo7 g T RS YeTErE ottt hiow aRE e ?
Q) 15 FAERER ) 17 (3) 15 @) 1 f¥x
N
A

Y INDIA

}. ‘ r Physical

“uill

004

In the above map ‘XY’ line is the line of retreating monsoon of which of the following

day ?

(1) 3)

15th October  (2) 1% November

15t November (4)

1%t December

FHoAT HTUTTS WA / SPACE FOR ROUGH WORK

P.T.O.
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42, ‘wg A’ & S9ER AT wHE yaE areven dumen fRA R,
(1) arife @ = (3) e (4) ==
‘EL-Nino’ is a warm ocean water current that starts along the coast of
(1) Argentina (2) Peru (3) Brazil (4) Chile
43. 5 Sifed @ YR YHeg MTDC afy Al .
(1) YRAHS B 2)
(3) T Efem (4) A&
Deccan Odyssey is a joint venture between MTDC and
(1) Hotels in India (2} Railways
(3) Air India (4) ITDC
44, Wmﬂaﬂﬁwﬂﬁ@vﬁaﬁwﬁm@n@vﬁmaw&mw%@a

TN frae,

(a) FHwA (b) SEETE (c) =g (d) ImEmTE
qatet I ;

1) @ ® ( ()

() @ (© ® @

G © @ @®

(40 b @ (© (a)

Arrange the following oil refineries of India from West to East and select the correct answer
using the options given below :

(@) Koyali {b) Bongaigaon () Mathura (d) Numaligarh
Answer options :

1) @ ® («© (@

2) (@ (© (b (d)

B) (& (@ @® (@

@ & @ © @

45. TIASIHT HIIE AR TETTIO= Heer W a3 2
(1) wiTer (2) Tam (3) w=Fs (4) Wicde
Which of the following fish is the most important i fresh water aquaculture ?
(1) Mackerel (2)  Shrimp (3) Munnbai duck (4) Prawns
46. 7' ¥ WS M 4 AR MRATEAT ATy WA ST AR
1) tfre-3 (2) #-w
3) -3 (4) 3R - AW

‘Loo” is a dry and dusty wind blowing through the north - western part of India in the
months of :

(1)  April - May (2}  May - June

(3) June - July {4) October - November

FoAT HHES W / SPACE FOR ROUGH WORK
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47. WESIH FUR HEF 99 AT TROMH HIAT ?

(@) SR (by IR
(€) VHTE AHTAA (d) W@
qatdt I
(1) (b), () S (d) (2) HH (0
(3) e (d) (4) Fete! SR T
Generally which of the following factors affect age structure ?
{(a) Birth rate (b) Death rate
(c) Size of population (d} Migration
Answer options :
(1)  (b), (c) and (d) (2) Only (9)
(3) Only (d) (4) None of the above
48, S T
WA WU B
(a) dSt ferrean @) @ afon fasn wEasie feaem
(b) e e iy Toy snfor gaes e feren
(c) T Tewrerl (i) H@S O FTl ASHTS Ty
) FuSH e (v) Teeim a foen et femen
it 34T

@ 0 © @
M G @ @
@ @ @ O )
@) 0 @ (v G
@ @ ) @ @

Match the following :

Column A Column B
(a) Punjab Himalayas (i) Himalayas between Kali and Tista rivers
(b) Assam Himalayas (i) Himalayas between Indus and Sutlaj rivers
(c) Nepal Himalayas (i) Himalayas between Sutlaj and Kali rivers
(d) Kumaon Himalayas (iv) Himalayas between Dihang and Tista rivers

Answer options :

@ () (o (@
(1) v @ @) @O
(2) @) G(v) () ()
@) @ @) (v) ()
(4 G) Gv) () @

FHoedT HHEGST |l / SPACE FOR ROUGH WORK

P.T.0.
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49,

24
ISE Fftdd we
(a) g (i) 26 AT 1982
(by =ifvm (ti) 16 AT 1982
(c) Tsfalia @) 01 & 1999
d) =R (iv) 01 9 1998
TGt I

(a () () (@
(D ) @Gv) @G @ -
(2) (v) (i) (@) (i)
(3) (i) (@v) () (i)
(4) @ @ @) ()
Match the following districts with the year of their formation :

District Formation Year
(a} Gondia (i} 26 August 1982
(b) Washim (i) 16 August 1982
(c) Gadchiroli (iii) 01 May 1999
(d) Latur {iv) 01 July 1998

Answer options :

@ (b)) (3 (d)
(L) (@) @v) G) @)
(2} (wv) () @ ()
() @) (v) @) ()
4 @) @ @) (v)

50. WIS SO T @R a8 ?
(1) = (2) Fom (3) gmm (4) af
Which of the following rivers flows through Rift Valley ?
(1} Damodar (2) Krishna (3) Tungabhadra (4) Tapi
51, WA ¥aEl [@Hoee Y@ega S
(1) 97°25'E (2) 68°7T'E (3) B82°B50'E (4) 90°25'E
Easternmost longitude of India is A .
(1) 97°25E (2) 68°7'E (3) 82°50'E (4) 90°25'E
52. M4 fasr fdwis qag snfor oy faegama U I AR,
1) 03 @) 0.5 (3) 0.9 4) 08
Human Development Index in Mumbai and Thane districts is more than
(1) 0.3 (2) 0.5 3) 09 4y 0.8

AT HIFETS WA / SPACE FOR ROUGH WORK
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53, TR G e T T et fo a2

Q) B ATR (2) SEe (3) Tawm (4) T
Gurushikhar is the highest peak of which of the following ranges ?
(1) Chotanagpur (2) Aravalli (3) Vindhya (4) Malwa

54, Weden faadie saEd S0 AfEar GuwTeaT 3TRd o el

Rl (4) RS

(1) Bhil (2) Gond (3) Naga (4) Warli

55. A SAAEENS Ja T FE " .
(1) b o (2) e & @) faao w5 (4) IS Sl
. The main function of tertiary occupation is :
(1) Processing (2) Collection (3) Distribution (4) Storing

HoAT HIATATS ST / SPACE FOR ROUGH WORK

P.T.O.



004 26 A
56, e gt SHgR TETITEe] AT Yot TN S A sifewes He P
(1) M, (2) M, @) M, (4) M
The Working Group recently appointed by Reserve Bank of India to redefine the parameters
for Measuring Money Supply has abolished the following component from the concept of
money supply in India ?
y supply
L M 2) M, () M, (4) My
57. QEHIG whad] Wivdre ReReiaR aRad geen deedTs 3 e dee St aeete
IV HehewT A IE ? |
(1) wegd (2) USRI
@) wafis g (4) SOSYH KR et
As per the recommendations of Sukhmoy Chakravarty Committee which of the following
concepts is suitable for proper interpretation of the concept of real deficit ?
(1) Revenue Deficit (2) Fiscal Deficit
(3) Primary Deficit {(4) None of the above
58. WSS el S
(a) deren fEuda 91 G e frre sifus
(b) 1950-1951 Y& wRar=t faia (i) NHF =R SR
(c) TTTERAS (i) 1990-1991
(d) =RAONS W& e (iv) 1973 F®
ward I

(@) (b) () (d)
(L @ @) (@) (i)
(2) @) (v) (i) ()
() (@) @ @) )
& (v) @ @ ()
Match the following :

(@) Increase in oil prices (i) Maximum related to agriculture
(b) Exports of India before 1950-1951 (i) A review of economic transactions
(c) Balance of payment (iii) 1990-1991

(d) Huge deficit in balance of payments  (iv) 1973 onwards
Answer Options :
@ (b) (o (4
M 6 ) Gv) i
@ @) (v @) @
@) @) O ()
@ ™ 6 @) G

AT HIUTETS JW / SPACE FOR ROUGH WORK
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59. FRwe 30 FTET B0 A4 WA HLCIW S 7 |

(1) 1947 (2) 1948 (3) 1949 (4) 1950

In which year the ‘Minimum Wages Act was passed ?

(1) 1947 (2) 1948 (3) 1949 (4) 1950
60. mwwmmﬁmmawmwmm :

(1) SLH TR () TA.RfEE

(3) ARG (4) TE.TH.AUER

The Committee on capital account convertibility was constituted under the chairmanship

of :

(1) Dr. C. Rangarajan (2) M. Narsimham

(3) Y.V.Reddy (4) S.S. Tarapore
1. U TS YA FHH! B IS HR -

(a) AN o B 3. (b) SR e STSE FAT .

() Fordeht JAavEH dred M. (@) et Fod TR

e watg frae

(1) @A@EQFF (2 (b)®H @ GFQEE (4 (TN

There is a decrease in savings in the country because of

(a) Increase in employment (b} Low interest rates on savings

(c) Increase in foreign investment (d) None of the above

Choose the correct option : : :

(1) () and (c) only (2) (b) only (3) (b) and (c) only (4} (d) only
62. iw e wg@ A e -

(a) fafay fusien @GS a<@
(b) syl g fah IrEe

(€) TAIHD IS

(@) fafay frererdeo JaeiTe ARG TgT A0S 5.

Ty @iy e

1) (2 &K 2 @IQFR @) OFI@FE (@) (d)

‘Change in cropping pattern’ means :

(@) Change in different crop patterns

(b) Cropping with modern methods

(c) Change in technology

(d) Changes in the percentage of agricultural land brought under different crops
Choose the correct option :

(1) (a) only (2) (@) and (c)only (3) (b) and (d) onty (4) (d) only

=T HTHTES s / SPACE FOR ROUGH WORK
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63. GIASH For it faaran A B oM ?

(1) sfywE ym (2) HHRO Y
(3) TR g (4) =W
Which of the following is the external source of industrial finance ?
(1) Preference shares (2) Ordinary shares
(3)  Ploughing back of profits (4) Debentures
64. Y SN e,
- A - B
(@) ST Frame ST @ 1969
(b) R T (i) 1955
(c) YRaN® Re S T (i) 1960
(d) Ve d% gygret fffd (iv) 1949
vt I ;

@) ®) () (d)
D) 6 @ @ G
(2) (v) () G (i)
() () i) @ ()
@) ® @) @) ()
Match the following :

Group - A Group - B
(a) Banking Regulation Act @} 1969
(b) Nationalization of banks (ii) 1955
{c)  Establishment of SBI (i) 1960
(d) Creation of the SBI group (iv) 1949

Answer options :

@ (b (0 @
1) O @ @) o )
2 @) @ @) ()
() (v) () @) @
4y O @ @ (v

i

&oAT HMTATS FT / SPACE FOR ROUGH WORK
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65. (a) T SIS GURUN 1992 78 & Hhedl N1,
(b) W & Sehtel THIGT F HrALTIA HTE.
(c) Sepiet gufrr sTfon wapn gawo.
i 39T
(1) () TS GT () 30 () A (a) <t M2 amee.
@) (b) M (o) F T .
(3) (a) TS 3T FH (b) ¥ (a) < 3= M.
(4) (o) TN 3T TG (b) T () & (a) =1 Sheee ek,
(a) Banking sector reforms were initiated in 1992.
(b) Increasing the profitability and efficiency of Public Sector Banks.
(¢} Improving safety and soundness of banks.
Answer options :
(1) (a) is correct and (b) and (c) are objectives of (a}
(2) only (b} and (c) are correct
(3) (a) is correct and only (b) is objective of (a)
(4) (a) is correct but neither (b) nor (c) are the objectives of (a).

66. YRA GIHN g .99 OReASE gisa Asaseaie U 39— Qe T3 v g9
FOAE 30 ?
1) 1951 (2) 1949 (3) 1948 (4) 1956
In which year, the Government of India established the National Income Committee under
the chairmanship of Prof. P.C. Mahalnobis ?
(1) 1951 (2) 1949 (3) 1948 (4) 1956

67. e WHRS [EIGUH! HIVE SA A Hied Rieosqes o e 9 B ?

(a) e Er (b) et &=
(c) Sife & (d) e &
Fots! aa =g feer

(1) @R (2 (b) s () TR @) ©FR (4 () AW (d) FH
Indian Government needs to be more careful and responsible in which of the following
sectors.

(a) Service sector (b) Agriculture sector

(c) Banking sector (d) Industry sector

Choose the correct option from above :

(1) (@only (2) (b)and (d)only (3) (cjonly (4 (c)and (d)only

wHeedT IS 9T / SPACE FOR ROUGH WORK

P.T.O.
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68. (a) Wﬁrmmuﬁmnﬁaaﬁmmw7
(b) TR 25 ¥ 30 WEE M. - )
(c) WWWWWWW.

(1) (o) SRR 3T (b) <A () e
(2)  (a) (b), (o) ® T =T
(

3) (@) (), () ¥ IF

@) (o e o T s ()

(a) SHG has to be a group of rural poor.

(b}  Group may consist of 25 to 30 members. -

() Members are of the socially backward families only.
Answer Options :

(1) (a) is correct and (b) and (c) are incorrect

(2) all (a), (b), (c} are correct '

(3) all (a), (b), () are incorrect

(4) (a) and (c) are correct and (b) is incorrect

69. T FEA AT S ST R T e far i St AR 7D ?
(1) 1976 (2) 1991 (3) 2000 (4) 2001
In which year the ‘National Population Policy’ w1th “Two children in One Family,” was

announced 7
(1) 1976 (2) 1991 (3) 2000 (4) 2001

70. 9 1991 WA TR fEdt TRy ST AR SIS B 2

(1) 14 2Fh (2) 222 FF (3) 127F% (4) 103F

In July 1991, the rupee devaluated by :

(1) 14 percent (2} 222 percent (3) 12 percent (4) 10 percent
71, HERRR WA . am. |

(1) <= SEUATEAT 1.4 92 (2) g IREAAT 1.5 92

(3) §aTe ST 1.4 02 (4) BT TGAF 1.5 T

Chandrashekar limit is ___ _

(1). 1.4 times mass of moon (2) 1.5 times mass of sun

(3) 1.4 times mass of sun (4) 1.5 times mass of mars

THOET HIHTATS TR / SPACE FOR ROUGH WORK
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72. ¥rewn fram aeiele! o S 1Sd T2
(1) %S o
() odaRs
(3) feor Ao THOR AgE
(4) A A
Ohm’s law does not apply to
(1) conductor
(2) semiconductor

(3) conductor when there is change in temperature
(4) none of the above

73, ESAHe YIS ST YRA SO AT 8, e . VA,
(1) wetye foig () seReA fag
(3) A faig (4) o e
The temperature at which the water vapour in a given sample of air becomes saturated is
called the _ . ‘
(1) Meltlng point - (2) Boiling point
(3) Dew point (4} Absolute humidity

74, 9IS AR HSAG Hiurdl HTELHI%I‘E'@W

(1) et s @) fushe dorEs
(3) fhefte smavmmEAe S @) e mé—e:

In Bhopal gas disaster the gas given out was :

(1) Methyl amine (2) Methyl chloride
(3) Methyl Isocynate : (4) Methyl fluoride

75. TGS AHIIH! SV a9 e 318 ?
(1) SEie §o § W SRRSROTIE) AT,
(2) 3fuT FTERE T ¥E THERAT TE TREHE 3.
(3) fueits srewhieio & wrEt Sviefaoare §HEITGT TAR HIM.
(4) ﬁmw%maﬁﬁa@m@aﬁmww

Which of the following statements is false ?

(1)  Diethyl ether has been used as a general anaesthetic.

(2)  Ethyl alcohol is present in all alcoholic beverages.

(3) Methyl alcohol is produced by fermentation of sugar.

(4) Ethylene Glycol is commonly used as antifreeze for automobiles.

THeeAl RS HAM / SPACE FOR ROUGH WORK
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76, STIERUTES HIET YERE TR S16 SAIERE (CO,) Fream ?
(1) IRIFEIR ~ (2) THRS (3) <o (4) TR
Which radiations are absorbed by the carbon dioxide (CO,) from the atmosphere ?
(1) UV 2y IR (3) Visible (4) Microwave
77. WU IV 7EE WEq WIS 37Hd ?
1) wR (2) (3) fue (4) fow
The largest size of heart is found in :
(1) Crocodile (2) Elephant (3) Lion (4) Giraffe
78. WidE! s of few At 49 A ?
1) w=X (2) @i (3) wWES (FE) (4) TEW
Which one of the following is not an insect ?
(1) Mosquito (2) Housefly (3) Spider (4) Bedbug

79.

ATt yroaien Hewid Goletat R fauE W oe ?
(1) o Meos A

(2) & 9T 7.

(3) TR AT SRTAT AHATER SEod 379,

(4) T AoEE R oA

What is true in case of cold blooded animals ?

(1) Blood freezes

(2) Blood is cold

(3) Body temperature changes with the surroundings

(4) Body temperature remains constant

80.

FR FR-Fd YT ARTER T AR Ferlehtor F 9 aard] guiwd! qread ?
1) FH*G (2) AT () Figeiw (4) FETITEA

Which blue-green algae fix atmospheric nitrogen and contribute to the fertility of rice
field ?

(1}  Chroococcus (2) Gleocapsa (3) Nostoc (4)  Chamaesiphon

THeAT HIUTETS T / SPACE FOR ROUGH WORK
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81. ! B9 ol feor ? ,
(1) e 2) == @) fwie (4) fsd=io
Who coined the term taxonomy ?
(1) Haeckel (2} Linnaeous (3} Aristotle (4) De Candolle
82. Sfd=n AF7 SEIAET THU FRdl STEeE! WA eyl Ed ?
(1) 16 2y 32 3y 15 4 12
How many essential elements are required for normal growth of plants ?
(1) 16 (2) 32 (3) 15 (4) 12
83. WM O & YATEl SATHR HH] Tl ?
(1) wra fEen fadiymmd (qemer) (2)  fpefeew (I wiTee)
3) fgiad® (SEwFR) (4) IS BT TE
Normal RBC’s are shaped.
(1) Sickle shaped (2) Biconvex disc
(3) Biconcave disc {4) None of the above
84. WA fdt S (AT ) fresd ?
(1) 4fFa F=/90 ) 9w Fet/d9
(3) 7 fea St/ @) 12 fFa Ft/99
The energy yield of fat is :
(1) 4 kcals/gm (2) 9 kecals/gm
(3) 7 keals/gm (4) 12 kcals/gm
85. ‘‘fyger g’ & UM S Bt ?

(1) e e/ T (2) Tsel wEW /faug

(3) FRaeden (4) I T SHETH SR /o
Yellow fever is caused by :

(1) Arbo-virus (2) Rhabdo-virus

(3) Rickettsia (4) Human Immuno deficiency virus

HEAT HUMIE FUH / SPACE FOR ROUGH WORK
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86. WIHD FidIe HiAT= ST Tl ?
1 8 (2) 18 (3) 36 (4) 38
How many angles are there in the following figure ?
(1 8 (2) 18 (3) 36 (4) 38
87. W GAM=15030 ¥ fofed, SI0=452035 fofed W WEK =7
(1) 551020 (2) 552510 (3) 551025 (4) 551030
If GAM =15030 and SIO=452035 then WEK=?
(1) 551020 (2) 552510 (3) 551025 (4) 551030
88. argdta wwTeA foFTol Ary vag e
8a]  [81]  [s8]
14[12] [18]09] |?]11
(1) 16 (2) 21 (3) 61 4) 81
Select proper alternative to replace the question mark in a diagram :
84 [a1] 88
1412 {18]09 7111
(1) 16 @ 21 (3) 61 @) 81

FHEAT FHTS AT / SPACE FOR ROUGH WORK




89. THATI AW FH W U HT.

% gon srwee fawmh et frae.
L
Z4
X
7
Z
L
u

(1)

Complete the grid after studying the pattern.

Select boxes for crossed boxes :

(2)

.

(1)

(2)

(3)

(3)

004
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90.

36 A

56+ J620+/25 =7

() 05 @ 9 3) 09 (4) 81

56+ J620+35 =2

(1) 05 2 Vo (3 09 4) 81

91. 3 I T400 <0 @FT. {5 WS[@A X300 0 BT 30T T A 500 <0 B, S Hel
s @ {5 W el A/ T3 e 00 qHedt wOe FWdte W siqen fodt ww g ?
(1) TSR e 2100 & wiese.
(2) T Siqen ¥ 500 fee Wik,
(3) W {oEe T 200 6 U o s fed uifesa,
(4)  Hs[ol e Qoft ewdt 0 o TR R0 e T 200 R,
Anju owes Ranju ¥ 400, Ranju owes Sanju ¥ 300 and Sanju owes Anju X 500. If Sanju is
to settle all the debts by giving money to both Anju and Ranju, how much will she have to
give Anju ?
(1) Sanju must give ¥ 100 to Anju
(2) Sanju must give ¥ 500 to Anju
(3) Sanju must borrow I 200 from Ranju and give it to Anju
(4) Sanju will not be able to settle all the debts as she is not having I 200

92, 4+44+444+4444+ ----- T AV TS Gi@dT IRd. SS9 il S{s Het ot gmy
=1 3ol HIvEr ST W ?
1 5 ) 9 3 3 4 6
4+44+444+4444+ - - - - - In this series there are nine terms. If we add them which
number will there be in the tenth place ?
(1) 5 2y 9 3) 3 4 6

93, feoem TemHiE ST qeneR =N S T .

DINSX, BGLQV, CHMRW

1) AGMQV (2) YTOJE (3) GHIJK (4) AFKPQ
Find out the alphabetical term that belongs to the given group.

DINSX, BGLQV, CHMRW

(1) AGMQV (2) YTOJE (3) GHIK (4) AFKPQ

oAl ST ST / SPACE FOR ROUGH WORK
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94. WIUHA] TH T2 HE AU LA, HOS TIh THUHFIY ARd. At {Fanfes et den
60% AT SNfoT et W& 54% TR, @ U1 T Uhuehed foyaidt e &t zad one ?

(1) 16 TFh (2) 248 (3) 30T (4) 46 TFH

In a group of people there are some couples. Remaining persons are single. Out of these
60% are married and the males are 54%. Then what is the percentage of single females in
the group ?

1) 16% @) 24% (3) 30% 4)  46%

95. ‘C’ @A’ < wHed! Uk AU R, 'C’ € ‘B’ = A AR, D’ W C W o Th IS . W
‘AE DR w? |

(1) W . (2) e
(3) e (4) Fgon

‘C’ is the only sister-in-law (husband'’s sister) of ‘A’. ‘C’ is the father's sister of 'B". ‘D’ is
the only brother of C. Then what is ‘A" to D.

(1} Niece (2) Sister-in-law (wife of brother)
(3) Wife (4) Sister-in-law (sister of wife)

96. I Fa=r=m (( 7) St Ay g fae

80 92 ?
90 100 81
15| 45 |3 0] 20 (4 17/30 |3
(1) 74 () 106 @) 75 (4) 100

Choose a number in the place of question mark (?) :

80 92 ?

90 100 81
15/ 45 |3 0120 &> <i7|3013
(1) 74 2) 106 (3) 75 (4) 100

el HIWME AT / SPACE FOR ROUGH WORK .

P.T.O.



004 38 A

97. gy fagren fasol FIvmET aeheT 456 2
T Ve e Vst Yo Ve Y A
A @ 7 @ 7 @

Which number will come in place of the question mark ?

Vi Yo Vo Yo Vs Yar Vo Th

W % @ 7 ® 7% @ A
98. e sTHIT Y& HIOMT AT Id 2
L] 0
A A JAN
5 Q S X
1 2 3 4
(1) A (2) (3) (4) A
Which one will be the following figure ?
O _ R O
A JAN A
s O S X
1 2 3 4
(1) A (2) 3) 4) A

el HIUTATE A / SPACE FOR ROUGH WORK




A 39 0.0
99, fedea SRR FIU TH [EIT HIGTSN THSAIHA FFad IR T ?

B D B oS

Which one of the given cubes can not be made from the following paper cut out ?

B oD oD T

100. T SiFRTE Aviie 7 & 3 9 o WEA AR 559 71 STHEAR Wieed] 12 WediH 9w o ?
(1) 512 2) 521 (3) 612 (4 721

In Arithmatic series, the 7th and the 9" numbers are 55 and 71 respectively. Then what is
the sum of first 12 numbers ?

(1) 512 () 521 3) 612 @ 721

-00o0-
wHoAl HIWTEES A / SPACE FOR ROUGH WORK

P.T.O.



004

YO — (9% 1 7% q3...)

©®) TqEEs] fafed soem fafire smie F= FW (6 o) R, THYRarafelisa Swofda =
TR FIRER %= FW Fed™  FHA F0a=0 RIA F3 AR, FH THS TS § FHR IHERH
WA S e aligined dor i wfiwy FoaEees sfufem-g2" e REERar wRaE
OGN 450 9 Q] ST FHG TF FUAl SREETEN iy fhe 9w TR Wi deren ey
T TR

(9) W FEICRHFAR AR fafed Ho 9o HIearH® SHTaRe TRy wEd aiet TaEmeER
U U GEFT SR, WA GHET SHATaTeY WIvATgE] SREAT STqedT ITiTG AT W1

AT YFEEHS 7 fauEr W T avas oy
YT o
99 . 201. TaTH 916 TR FAEIEH B0 Yo T F 2
(1) T SErR vt @ dveag R
@ T W @ TR Te

9. %h. 201.

IR A IR (E) T e T IR R, WIS W s I Y (3)" de, a|
GHEHEM 99 F. 201 ¥e Sw-wwiE Q)" ¥ ads ive Fmifed FE9 qrafan
HETF 3R,

ONON NO)

I TG T TS TAF T QO SUGHHIE 8 qRe Wl qfaee
SAtRale @ @ gEERiEEe déftn 9o it sEifee e qreaE.  grewfar
TRt HTEdT YIEY KA AT, Ufae oty O e 19,

oAl HIWHB ST /SPACE FOR ROUGH WORK
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